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HERER 12R3H 0.08 0.08 0.08
RREEHE 12A3H 0.09 0.08 0.08
HRER 12H3H 0.08 0.08 0.08
TAREE 12A3H 0.08 0.07 0. 07
TtEREER 12R3H 0.09 0.08 0.08
FEREE 12A3H 0.10 0.10 0.09
2 RAEE 12R4H 0.09 0.08 0.08
AREBEEEASE| 12848 0.08 0. 07 0.08
THNREER 12R3H 0.08 0.08 0. 07
HhEIREE 12A3H 0.08 0.09 0.08
SHREER 12R3H 0.10 0.10 0.09
INFRGHER 12A3H 0.08 0.07 0. 07
2L LY#E 12R3H 0.09 0.09 0.08
OIEY H#E 12A3H 0.10 0.09 0.09
INF B INERR 12R3H 0.10 0.10 0.10
RINTFBRINFR 12A3H 0.10 0.09 0.09
BB/ 12R4H 0.08 0.08 0. 07
TAINER 12A3H 0.09 0.09 0.08
FH/NMNER 12R3H 0.11 0.09 0.10
FMR/INER 12A3H 0.09 0.09 0.08
JNIFINER 12R4H 0.10 0.10 0.09
RIL/NER 12A3H 0.09 0.08 0.08
FIRINER 12R4H 0.11 0.10 0.10
BEANER 12H4H 0.10 0.09 0.09
A B/ 12R3H 0.09 0.08 0.08
INF AR 12A3H 0.10 0.10 0.10
R/INFAPER 12R3H 0.11 0.11 0.09
FHPER 12A3H 0.08 0.08 0.08
AR 12R4H 0.13 0.10 0.1
A EBEdEE 12A3H 0.08 0.08 0.08
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